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FA BH=SL
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SBNEd=tlet 1,072,040 1,138,845 66,805
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= 64,872
o 813,175
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NXSEBH MRES 7L S
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NXSBN 2ds =22 M
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NAE MSAE 2435 23|
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DXSZH 22 =& A
8,0002 x4 +513] 1,632
NAHINEM MRS HHE
100,000& 10« 12] 1,000
NEI Xz S 54,0002 %122 648
DA SHOIHA 23
200,000 *43] 800
02 s3=gHl 19,448 21,260 1,812
NREURI 150,000& * 122 1,800
NXE HSANE 3322 S
920,000 %123 11,040
NXE BSNE FXE>
1,000,000& *23] 2,000
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= 170,000
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340,000,000 340,000
= 170,000
=S 51,000
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el XA EER=E)
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308 XXM SOl 86,820 72,300 14,520
07 AX R FE= 56,820 57,300 2480
Nsxlg |4I13 56,820,000& 56,820
18 SIS0t HAS A 30,000 15,000 15,000
NANIERE D28 N (2IIEF)
30,000,000 30,000
IMAAIEMNE(ER) 38,250 33,750 4,500
= 19,125
T 19,125
403 X SHMSAH=01H 38,250 33,750 4,500
= 19,125
= 19,125
02 SIS0 et =& P E A I 38,250 33,750 4,500
NLPGEI| AFZIOHT AIEIHE AL
38,250,000& 38,250
= 19,125
o 19,125
ARHZ ASOIAYA KR (EX) 8,559 6,659 1,900
= 1,368
= 912
Ea 6,279
301 EetE2 NS 8,559 0 8,559
= 1,368
= 912
= 6.279
14 DBt 2 a=S 8,559 0 8,559
NESDIAGEA ARTEEA X
400,000 * 100K 2 4,000
NREIAG A 285 KR
911,800 *50H A 4,559
= 1,368
= 912
o 2,279
CMAEEEHOIX 20,000 20,000
308 AHXIHMSO0IA 20,000 20,000
13 SI12S0He 4 A AS A 20,000 20,000
NEE, N ¥ HHEEZR0IAY
20,000,000 20,000
Hgoizel 2,250 2,250
201 LBzl 2,250 2,250
01 At2teltl 2,250 2,250
NAIIZMN 2SXHE 600,000 600
DA ZMN EE225 & 23 MATY
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NEXAE LEOEE WHAY
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[Ea 3,500
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[ 28,750
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= 829,257
axtelSSH 1,118,686 811,332 307,354
= 28,750
< 260,679
T 829,257
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NE= AIBIGUEN NLERES 23
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NExeISSH 28 S0
60,0002 x4 & *632] 15,120
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[ 98,129
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DABAEI} A B
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